@ ﬁ A { ’ three fractions, order of operations

Name: Date: Score:
1 3

T7+7T— == 49 +~7+ = =
6 5

14+7+1= l+lxl:
2 6 3 3

2 2 1 1 1 3

—_— — X = = _ X —-F - =

5 5 6 6 6 2
1 1

36 -9+ - = -—33=+11=
3 4

2 3 1 2 1 3

5 2 3 5 2 5
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three fractions, order of operations

Name:

1 65
T77+7— == — =10
6 6
14+7-|-l=§=2l

2 2 2

2 2 1 1
—_— — X —_— = =
5 5 6 3
36:9+ 2= 2 _yl

3
2 3 1 9
—_F = X - = —
5 2 3 10

Date: Score:
3 38 3
49+T7+ = — =7=
5 5 5
1 1 1 5
—_F = X — = —
6 3 3 18
1 1 3 55 19
—_ X et —= — = | —
6 6 2 36 36

1 11 3
- BAI=(5)=(2))
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